DU ST <
NS
— 0 0 U A 0 — 0 0 U A 0 — 0 0 U A A
) ™~ ™~ AT ™~ ™~ ) ™~ ™~ A0 ™~ ™~ ) ™~ ™~ A0 ™~ ™~
(I P P [N A (I P P [N A (I P A [N A
i = = [ G = i = = [ G = i = = [ G =
[ = = - = = [ = = - = = [ = = - = =
~ ™ m | = ™M ™ ~ ™ m | = ™ ™ ~ ™ m | = ™ ™
E\ — e g (e} ! E\ — e g (e} ! E\ — e g (e} o
=) ™M O | = U o) =) ™M O | = U o) =) ™M O | = U 0
— 0 ™M |/ 3 -] — 0 ™M |/ 3 -] — 0 ™M |/ 3 -
m N g [ m N o [ m N o [
= [ - m = [ - m = [ - m
= = O >~ = = | O >~ = = | O =~
> | T EI‘ U > | T EI‘ U > | T EI‘ U
= | = ) = | = ) = | = )
= |= = |; = | = = |; = | = < |
" | o | " |
[@0)] [@0)] I~
[ I~ an
-6,30 159,151 -6,30 159,151 j -7,25 159,361
-5,35 159,11 4
-4,85 158,90
-4,35 159,00 -5,35 159,11 4
: : ~4,20 159,221
-3,90 . 159,01 -3,78 | 159,22
=379 159,16 -3,75 159,19 4,50 159,19 1
- i 159,051 _ ] i
3,20 A 159,20 3,20 159,084159,23 ags | 159,22 |
265 158,81 4159,25 B | | 159,14 | =375 159,317
235 159,04 {159,03-158.81 115925 1— 20 159,249159,21 145550 1199,25 ) | | |
12851 ‘ 3,20 159,21 159,36
) ‘
|
| B | | 159,26 |
| 250 159,274159,2643'52 15941+
| |
| o o “
\ y y \
159,14 | | x = | 159,75 | | O \
000 159,159;25' 4 159,21 1159,30 = 000 159,267:2/55159,251159,34 [ |
3 &3 ‘
159,35 | | \
‘ 000 159,3638"33159,37-159,46 |
159,16 | \ | | 159,20 | \
250 1591315912 125'[¢ 159,25 250 159,294159,21 412474 199,29 ‘
320 A 159,044159,19 320 159,084159,23
3,73 159,15 3,73 159,19 Sdp 1993491993323 450,41 |
380 159,10 1 / 3,77 4159,20 517 ‘ '
, 159,10 Jhe , 159,21 500
782 459,151 152 159,15+ 30 159,21 1159,361
) / 3’75 :159,84’ 159,31,
490 159,20 Y81 ] 159,237
4725 159,204
T U Us ==
S, o
QL4 0sSLeo 6,00 159,101
SowWo 3o 5,40 159,10 A
Sd S U Us <= =
o D YsLd MU Us s =
Pg»@i?@ob S <
~S o Lo L5228
S S8R ARE
mno n Oy
(O]
— 0 A U A A (] A A U AU 0 (] A A U AU 0
) ™~ ™~ A0 ™~ ™~ = ™~ ™~ ZUERN ™~ = ™~ ™~ ZUERN ™~
!7 A P [ imM (N imM imM [ AT (N imM imM [ AT
m = = . 9 = m = = . - = m = = . - =
ch = = - = = N = = - = = c = = - = =
—~ ™ M | = m ™ —~ ™ M | = m ™ —~ ™ M | = m ™
E\ — - g (g} O E\ — I g (9] ! E\ — I g (9] !
™ ™ o | O 20 ® m 20 |5 U 0 ® m 0 |5 U 0
— 0 ™ | /O [ — “0 ™ |/ O -] — Z0 ™ |/ O -]
m N g B [ ™ N g I [ m N g I [
= O g ™ = [ m = [ m
= = O = & = O = & = O =
e T U > T U > T o
= | = 2| = | = =5 = | = =5
— — = - — — = _ — — = -
& | o & | & |
N o o
— o o~
-8,70 159,35 -8,70 159,01 -8,20 159,01 1
-6,55 159,301
-6,20 159,06 550 s
-530 159,181 45 159,057
-4,35 159,00
4,50 159,131 ~460 159,211 38 | 159,03
-387 159,15 4 -3,79 | 159,21 BaN 159,09
-375 159,27 375 15917 -3,20 - 158,994159,14
- i 159,16 | i B , i _ 159,09
2,65 - 158,924159,36 B 159,12 | ’ ) ’
,8’40 7159’807159’19 7158,987159,36 “ 8;50 ’159;80’159;19 7159,18 159;87 ‘ ‘
159,27 \ \‘
\ |
| \
| mno Mo
== + 0,00 59,17 {12210 115915 4159, 244
000 li59,350593 hso s disoa L Ll =l 5923115222 59 23 hsg 3 R e |
/ 997159337197 / = P CI159.007197 / o \
| NS 4
\
\ \
| |
159,07
250 i 02 1159,10 | \
159,27 | 159,18 2R0  159.082307915904 DI
_ _ _ J _ { | | | ) | J
250 159,28159,27+1235{ 159,36 RS0 159,224159,19 41235 1159,27 v 158.99-159.14
320 A 159,154159,30 320 A 159,064159,21 375 4 159,09
3,75 | 159,26 375 | 159,17 3,88 198,97
i,;g . 159,24 3,77 199,15 450 1158,91 1
’ ’ 445 159,11 4
5,70 158,63
260 198,759 580  4158,63
6,50 158,94 c70 lisg s 7,05 198,764
?ngﬁ% U Us== SR IE==
Nl n3s8o S O NS Lo
O O 0N 1 =S oo S & D&
bmngQ PPP?Lb be“P:
N el C)}% \J%gPO\H GQQ»E\J
() ~J
(@)
(] A A0 U U A0 (] A A0 U AU A0 — A0 A U A A
= ™~ ™~ AT ™ ™~ = ™~ ™~ AT ™ ™~ ) ™~ ™~ A0 N ™~
(N A P [ P (N A P [ P !7 A A [ | A
m = = (G = m = = . - = m = = . g =
N = = - = = N = = - = = ch = = - = =
—~ ™ M | = m ™ —~ ™ M | = m ™ —~ ™ M | = m ™
g\ — A g (o) e g\ — A g ) e g\ — ! g (9] U
e m O | = U o) e m O | = © o) »! m o | = © 0
— 0 m |/ O -] — 0 m |/ O -] — 0 ™ |/} O [
m N g S [ m N g S [ m N g S -
= [ I G ™ = s I ™ = [ - ™
[ = | O ~ [ = | ~ [ = | ~
™ | T — | O ™ | T — | O > | T — | ©
= | = = |5 = | = = |5 = | = !
= |~ = = = |~ = = = | = =
= | U] = | U] = | J
m | co ™| S0 M| &
~J an (@)
an ~J (@]
-910 159,60 -910 159,35 -910 159,35
-6,35 415951 -6,40 159,28+ 69 la9.27y
B i i -5,75 159,031
5,60 159,30 540 5939
~4e0 159,591 470 5937 4,50 159,40
-385 | 159,42 -3,77 159,42
=3,79 159,61 -375 ] 159,527 -375 7 159,43
-3,20 159,504159,65 -3,20 - 159,424159,57 3,20 159,334159,48
250 159,644159,634129:25 1159 71 ~o.60 :15950*%3'13:159'477159 6P-F= ~260 :159,457%3'31:159'387159 53
/ / / 159,62 / “ -2,90 159:49 159,53 / “ -2,90 159:44 159,44 / ‘
\
| |
‘ o ‘ o no
I 2 B
| 159,67 | | | = | 159,56 | | | O | 159,46 | | NG
0,00 15968128 71159,67159,76 “ B[00 159,574,252 159,58 159,67——f| 3000 {159,47425742159,491159,58 3
= R £
\
| |
\
159,62 | 159,54 159,45 |
8’40 159,68*159,61*159;87*159;71 | 8,30 *159,53*159,58*159,19*159,63 8,30 *159,45*159,44*159,10 *159,54
2,65 159,274159,71 2,65 A %23,2%7159,68 2,65 A gg,%%f@&
159,56 , ,
3,20 15951 159,66 3,0 A 154434159,58 320 159,344159,49
3,75 159,53 3,75 159,44
325 159,62 o 100 159469 159,477 T 15937 159,36
515 159,171 535 hsgesl
558 159,07
635 159,17 6,40 159,031
6,85 159,31 I
O == MU Us ==
MU U= = ?g??gé ?T?«gg
SO T g 22 SRS
Lo 502 TS RS FO Ko—=h
=2 o Il FU% : U
A P (_ﬂ?)}—\ W
O
—J A0 A0 o O A0 —J AT A0 o O A0 —J AT AT o O A0
) ™~ ™~ A0 N ™~ ) ™~ ™~ A0 ™~ ™~ ) ™~ ™~ A0 ™~ ™~
!7 A AT [ A !7 A A [ A | A !7 AT A [N A
m = = . 9 = m ) = . 9 = m ) ) . 9 =
N = = - = = N = = - = = N = = - = =
~ ™ M| = M m ~ ™ M| = M ™ ~ ™ m | = ™ ™
E\ — - g (9] o E\ — - g (g} o E\ — e g (g} o
=) ™ o | = © 20 =) ™M o | = © 0 =) ™M O | = U 0
— 70 m |/} O - — 0 m |/ O - — 0 M |7/ 3 -
m N g I [ m N g B [ m N o [
= [ - m = [ S - m = O &g c m
< = | O ~ — = |0 i — = | Q 5
e T = U e T = U > T — o
= = U = = U = = U
— — = - — — = - — — = -
= | o =iNe = | o™
o (e NS
— o~ I~
-910 159,80 -9,10 159,70 -910 159,70
B i 159,59 |
R 159,71 [160,01
,7'35 3 159;71:160,01
/ 159,87 160,02
6,65 159,75 -6,80 159,49
-6,20 159,76
-585 159,63
-5,60 159,65 560 159 65- 159,91 g0 06
-5735 159,56 160,
EC 160,06
5,20 129,26 T159,94
~475 199,867 460 159,90+ 460 159,69 ’
-3,95 | 159,91 | 159,88
-390 160,03 1 -3,80 159,89
-325 159,954160,10 -3,25 159,78159,93
159,75
B | | 160,01 | B | | 159,84 | 2,60 4159 764124'524159,45 | ‘
250 1159,991159,98 2y’ 116016 | 2,50 159,867159,85735/5 1199991 530 %3;2 1255319989 |
‘ )
| | |
\ ‘ |
\ \ |
\ %) “ o ‘
\ S | = |
160,10 | | x o8 | 159,94 | | | = | 159,84 | | ‘
0,00 160,11 2010 160,12 160,21 ‘ & 0,00 159,95123'34159,95160,04 +— -0 000 159,85428'g4159,85-159,9¢4 “
| |
\
| |
16007 | | 5076 |
2,35 160,091160,08 4159,724160,16 | | 1159,90 | \ o50 | 76 159,80 | \
265 A %28'&[}17160’15 250 1159,91159,904125/5,7159,99 5 7159,777%3,;27159‘74 159,891
320 A 159 96160,11 320 A 159,79-159,94- 320 A 159,68159,83
%ég i 160,06 | %52 : 159,89 %gg i 159,79
108 159,971 13,59 1S 159,971 1956 15 159,63 15966
5,70 139,45 578 159,38 5,70 159,374
6,45 159,45
6,90 159,43 6,90 159,40
ng"‘pi ﬁﬁb‘jﬁg ﬁvafﬁg
GO 8o Lo L3 Lo Lo
= S8 5L=R 525258
= )
— A0 A0 o AU A —_ A A U AJ A (] A A U A A
) ™~ ™~ PZUENRN| ™~ = ™~ ™~ 0 ™~ = ™~ ™~ AT ™~
[ A A CJam P (I AT AT [ AT (. P P [ | oM
M = = 9 = = m = = . = = m = = [ G =
N = = = = c = = - = = cO = = - = =
— al M | = mM ™ - ™ | = ™ ™ — ™ M| = M ™
N — 1 g [oe! o N — e g [0} el [N — | g (9] v}
) m O | = U AJ gl m O | = O O ™ ™ o= O o
— 0 ™M |/ 3 = — pzs) M |/ = = — 20 = )
™ ~No oo = [ m ~No g [ m N g D [
= e I ™ = o ™ = [ - ™M
c| =5 ~ | =B ~ c| = |5 =
> | T O | ™ > | T E: U > | T E: U
== | 2|2 =12 | 2|3 =z | 2|3
Ao A | D Ao
= 0 o
(O] o
-910 160,351 -9,10 160,45 S -910 160,15 1
-6,50 160,45 -6,50 160,45 ] -650 160,11
-5,75 160,68 5,75 160,28 -5,80 159,98
-4,76 160,78
:j;%g 160,81 160,951 450 160,571 4,70 160,244
405 160,84 160,99 “409 160,60 ] 39 | 160,30 |
400 160,68 - . ]
350 | 160,88 |1 43 e 1605860 73 3,80 160,46
' 160,99 AR eoee | 3,25 A 160,36 160,51
160,61 -2,90 100'33160,77 1 2075 o 40 J160.39 ]
~265 160,91 160,90 1273 161,05 T ar oo heo colign3i ey 7e 55 10040 c07a0 160,42 | oo o T
| ’ : 7160069 0 | ’ 160,40 |160,48 |
\ |
\ \
|
. |
[GU]
160,95 | % “ S \\
i 160,95 | i | | 160,74 | | ‘ NG | 160,49 | | ‘
000 160,967,043 161,01 {16110 | = 000 160,75+2y'74 160,74 716083 +—— 2 0,00 160,50 1;¢0743160,53160,62 “
I (= | - |
| \
| ‘ |
| |
| \ 160,48
) \
160,96 \ 160,69 2,40 H160,434160,42 160,13 4160,57 +—
2,65 160,891160,88160,61 161,09 +— 2,70 g0, 724160,70 160,34 J160,78 || 265 1 160,12 160,56
290 A %28,85—161,05 285 160,337160,77 220 160,41 160,52
345 160.857161,00 - 40+ 16025 160,73 g 160.3779> 1
3,95 ’ 375 | 160,47
400 | 160,96 | 160,68 389 160,337
211 7 160,85 ] 3,98 160,65 160766 82 | ,
440 160,84+ / 410 425 160,31
559 160,54 560 160,25 565 159,861
ceo 6077 6,40 160,32
L 6,90 159,92
e e LTS Ld
~< ) S o2 = =
S0 G W RSB Lo L3002
e oM o oo
I~ -~ S = Mo o
o i n

7€0

(] A A U A A
= ™~ ™~ A0 N ™~
(. A A [ | A
m = = . = =
N = = - = =
~ ™ ™| = ™ !
E\ — | g(/) o
O ™ o | = T )
" N DgEl 2
= i ™
= 5|2 Ty
HERELE:
= 1 n
m |
(@)
NS
~7,70 159,504
590 159,17 1
495 159,304
-385 | 159,34
375 7 159,447
320 - 159,33-159,48-
159,37
’8;60 4199 387159’37—159,39 T
230 1728515945 7T
159,37 |
\
ro |
+ \
an ‘ no
NS ‘ -+
= 159,46 L D
D00 459474284 e159,504159.59 =
~
(@)
2,50 —159,48—159,46—%3"3‘3—15954
%28 . 159,334159,48-
250 159,39 159,44
3'79 159,39
4025 159,40
6,65 159,131
MU Us ==
ST T
SH2 L3S
oS oldge
o~ o8
o
o~
— 0 A U A A
) ™~ ™~ A0 ™~ ™~
Vi A P [ P
m = = . 9 =
N = = - = =
—~ M M| = m ™
E\ — | g(/) o
O ™ U | =T 0
s NDgl 2
= o | & & ™
= T2 -
= | = 2
= | = =
= |
= | o
o
an
820 159,01 1
550 158,951
435 159,00
-385 | 159,01 |
375 7 15911
320 - 159,00 159,15 -
270 5904 19903 Leg o
. 159,04 4159°04 159,06 | |
2'50 13 i3 s 1992 |
|
|
|
RS | o
y I | S
|
R0 15915412011 159,17 159,26 | =
2 ’ | 8
159,17
2,40 115913 159,12 {156,774159,21
265 158,75159 19
159,04
320 A 159,00 199,15
3,75
385 199,10 1 159,10 4
125 159,064
445 159,041
MU U= =
ﬁ Tjﬂ% I g
SO e
GS B
o
o~
(] A A U O A
= ™~ ™~ ZUERN ™~
(N A A 4 A
m = = . - =
c = = - = =
—~ ™ M| = m M
= =
(GO — ! {(/) U
O ™ Q| = o )
= 20 M | = o O
™ N o O C
el 2|87 &
™ g — | ©
= | = 2
= | z =
= |
= | o
(@
[
~930 159,35
6,55 159,274
570 159,14
4,40 159,411 I
380 | 159,40
-3’75 15935
320 | 159,254159,40
159,37
255 | 12237 159,30
7229 1159,394159.374192,30 J159 45
250 12437115936
no
&
000 1159,394123:334159,41 159,50 -
, I
I~
159,34 |
250 | 21 199,36 | |
555 59351122 34159,30 199,45
320 159,254159,40
3,75 | 159,35
385 7 159,257
465 159,191
5,90 159,041
6,85 159,041
U U=
ST O T
L& IS8
S8 g owdl
~
— A0 0 o A 0
= ™~ ™~ ZUERN ™~
(N A A [ A
m = = . - =
cO = = - = =
—~ ™ M| = M ™
E\ — | g(/) o
O ™ Q| = T )
A~ N Z=gEl 2
= o | & ™
= =2 -
HERELE:
= 1 n
= | oo
.
~J
~910 159,704
7,08 159,56
6,70 - 15980159, 95—
635 159,511 \
575 159,661
159,83
| Bies
-4,75 4 , 15948122,
460 159,64 159:48 159.86
250 159,38 1159 g2
2’25 H159,744159,734129,384159
2'25 193981159 821—
Mo no
5 NG
200 59,7728 76159, 78+159,87 -
= N
2,50 —159,75—159,74—%3'2%—159,88
320 159,61 159,76
375 | 159,72
384 159,631
425 159,59
5,98 159,261
6,65 159,461
U U===
TLTSLS
Sr Suxy
e o8
&
— A0 A0 U A A0
= ™~ ™~ ZVAERN ™~
[ AT AT [ | Pl
m = = . = =
N = = - = =
—~ ™ M| = m ™
g\ — A g(/) e
O ™ o |= T U
" NlDsl o
= I m
[ = O =~
2 | 3|®
= |= = |2
= |
= | D
.
910 159,901 T
6,40 159,87 _—
-5,40 159,87 —
4,50 160,051
3,9 | 160,10 |
380 1 160/26 1
325 160,15 160,30
-2,50 l60,22160,21 1125:5% 160,36 +—
' \
\
|
(@) ‘ [@®]
T +
§000 1160,28-1160.27 e 30 Y160 41 | X
ab 287160.27 160, ) £
(@8] CO
210 160,27 160,26 412555 4160,37
265 A %28'257160,36
320 - 160,16 160,31
35 160,27
415 160,15 160,17
560 159,764
6,60 159,871



